S5 SA1LHBE (o Ad : ARAFSAEAN)

K5HT4 AR | B[S (A) | I | A (B) | B [ BF(A+B) | IR
JiSIEin 2, 486 4 2, 805 0 2, 847 -6 5, 652 -6
JHPTET—TH 1,032 9 937 9 839 3 1,776 12
JHFHT — T H 596 -2 562 -5 572 -2 1,134 -7
JHIPTHT =T H 664 -1 719 -5 669 -1 1, 388 -6
eI 497 -5 512 -5 537 4 1,049 -9
PRI T H 329 -3 356 —4 329 0 685 —4
JHPTHT 7S T H 294 1 360 0 384 2 744 2
oY 204 -1 198 0 213 -1 411 -1

BA 381 1 446 0 467 1 913 1

T H 1,930 7 2, 009 9 2,061 3 4, 070 12
AT 348 4 341 2 337 —4 678 -2

R H 925 5 984 3 969 0 1,953 3
T — T H 280 -2 355 -2 392 -1 747 -3
T T H 351 -3 439 -5 441 —4 880 -9
HHT =T H 508 2 686 2 655 0 1,341 2
FHTIU T H 286 0 397 0 384 0 781 0
T H 236 -1 260 —/ 252 ) 512 -6

W] = 306 0 363 -2 343 1 706 -1

— VK 437 2 450 -3 453 0 903 -3

— YV KHT—TH 0 0 0 0 0 0 0 0
=Y RFNT =T H 31 0 44 0 42 -1 86 -1
=Y 113 2 131 2 121 -1 252 1

— Y ARHH 5 0 5 0 5 0 10 0
KH» 4B 691 4 864 4 873 ) 1, 737 2
k4> 4, 552 -2 4, 864 -11 5,075 -13 9,939 -24

IS 4,826 1 4,604 -11 4,705 1 9, 309 -10
W 1, 408 3 1,511 1 1, 556 -7 3, 067 -6
=+ 6 0 10 0 7 0 17 0
ErLR—TH 939 7 806 7 966 6 1,772 13
SR TH 1, 154 3 1, 120 2 1, 190 3 2, 310 5
E5+HR=TH 871 —/ 794 -2 866 1 1, 660 -1
LRI T H 728 -1 718 1 728 2 1, 446 3
E5+RAETH 736 2 782 1 684 0 1, 466 1
RN TH 0 0 0 0 0 0 0 0
8 1,986 5 1,968 7 1, 858 -1 3, 826 6

sy E—TH 297 1 301 -1 304 5 605 4
oy T B 243 -1 255 -1 247 0 502 -1
oy b ="TH 436 0 437 2 455 1 892 3
o DU B 774 -5 714 -1 821 -10 1,535 -11
o T H 460 -3 495 -3 523 -2 1,018 -5
I —T1H 257 0 300 0 335 2 635 2
FElT T H 585 -2 581 -3 648 5 1,229 -3
FAHT =T H 190 0 189 0 232 -1 421 -1
s 33, 378 27 34, 672 -16 35, 385 -37 70, 057 -53




